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B.Com./B.B.A./B.H.M. I Semester Degree Examination,
September/October - 2023

ENGLISH
AECC - 02 : Basic English -
Time : 2 Hours Maximum Marks : 60
Note : Attempt all Sections.
SECTION - A

Answer the following questions. Each question carries one mark.

1. (a)

(b)

(c)

(d)

(e)

(1)

0)

10x1=10

Where was the School located and what was near the School ?

What do the devotees receive in the Sanctum according to the poet,
Mudnakudu Chinnaswamy ?

How can the youth repay their debt to society ?

Whom did the writer, Chidananda Sali consider the most discriminated and
harassed persons among all communities ?

Choose the correct antonym for the word ‘SANE’.
(i) Priest (ii) Crazy (111) Cloudy (iv) Rash

What is role-play ?

Construct a meaningful sentence for the word “SYMPATHY”.

Complete the following dialogue.
A) How are you feeling now ?

(B)
(Response to the enquiry)

Change the following sentence into indirect speech.
The teacher said, “I am busy now”.

Change the following sentence into Passive Voice.
Do you play chess ?

OO AR P.T.0.
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SECTION - B

Answer any four of the following questions. Each question catries five rnark,s.4 Eeao
x =

2. How is the innocence of child presented in the poem “The Child’s faith is New” ?

3. Write a short note on the Portrayal of Dalits life in Mudnakudu Chinnaswamy’s
poem, “Sandals and I”.

4. According to the psychologist Jonathan Haidt what differences are available
between Empathy and Sympathy ?

5. Fill in the blanks with appropriate prefixes/suffixes, using the word given in the

bracket.

(a) Laxmi was sitting (comfort) in the train.
(b) He has completed the work (joint).

(c) Somesh is an (happy) person.

(d) Kallesh is (friend) with me.

(e) He (interpret) the text.

6. Write a dialogue between the teacher and a student about not being regular to
the class.

7. What are the qualities that the Writer Speaks about tolerance as a Moral Virture ?

SECTION - C
Answer any three of the following questions. Each question carries ten marks.
3x10=30
8. Discuss the theme of the poem, “I Ask for Waris Shah Today”.
9. Summarise Rivaka I Witenberg’s essay, “Tolerance is a Moral Virtue”.
10. (A) Choose the correct form of the verb that agrees with the Subject.
(i) Eshwar one of the candidates that I always refer. (is/are)
(ii) He or She a song. (sings/sing)
(iii) Neither Ratna nor Kavita my friend. (is/are)
(iv) I really your book yesterday. (need/needed)
vy The childresx . the cakes. (eat/eats)
(B) Choose the correct spelling of the words.
(i) He is so that he could not lift the luggage. (weak/week)
(ii) The Chief Minister the proposal. (Recommends/Reccommends)
(1i1) a letter to your father. (Right/Write)
(iv) Sir Thomas Munro was a _______. (knight/night)

(v) They have a mentality. (cheap/chief)

A A ERCART 0
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11. (A) Construct a dialo

) _ gue between the parents and the teacher about the
uregularity of thejr parents

son to the class.

(B) Complete the dialogue.

Jayashree and Karthika are childhood friends. They meet at their old school

after fifteen years and speak about their school memories.
Jayashree

(Greetings)
Karthika (Giving response)
Jayashree (Enquire about his whereabouts)
Karthika (Tells about his whereabouts)
Jayashree : That’s nice.
Both of us truly love our school and our teachers.
Karthika

(Agrees)

12. (A) Change the following sentences into indirect speech.
(1)  Ravi said, “I will distribute chocolates”.
(i1) The mother said to her son “What are you watching” ?
(iii) The Principal said to the students, “Bring your parents tomorrow”.
(iv) He said, “What a beautiful sunset it is”!
(v) Kamala said, “I don't like it”.

(B) Change the following sentences into Passive Voice.
(i) Samata saw me in the market.
(11) Has Maresh completed his work ?
(iii) Invite everyone to the party.
(iv) Who play this role ?
(v) Mouneshed may consult you today.

-00o0-
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B.Com./BBA/BHM II Semester Degree Examination,
September/October - 2023

HINDI AECC II
II : The Study of Indian Language
100488
(NEP)
Time : 2 Hours Maximum Marks : 60
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B.Com. Il Semester Degree Examination, September/October - 2023
ADVANCED FINANCIAL ACCOUNTING
(NEP) 104280

Time : 2 Hours Maximum Marks : 60

Note ; Answer all sections,

SECTION-A
1. Answer of the following questions, each question carries one mark. 10x1=10

(a) Why the fire insurance claim is introduced ?

(b) What do you mean by salvaged stock ?

(c) Who is a Hire purchaser ?

(d) What is cash price ?

(e) What do you mean by interdepartmental transfer of goods ?

() State any two expenses which are allocated on net sales ratio ?
(g} Mention the types of branches.

(h) Give any two features of branch accounting

(1)  Mention the types of single entry system.

() State any one advantage of single entry system

SECTION-B

Answer any four of the following questions, each question carries five marks.

. 4x5=20
2. Discuss the features of single entry system.

3. Fire occurred on 15-12-2022 in the godown of M/S Amith & Brother. From the
following figures ascertain the claim to be lodged.

Stock on 1-6-2022 25,300
Purchases from 1-6-2022 to date of fire 50,400
Manufacturing expenses and wages 60,000
Sales from 1-6-2022 to date of fire 1,56,000

The rate of Gross profit is 25% on sales.
The stock salvaged was valued at Rs.3600

(e P.T.O.
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4. Rohit Ltd. acquired an asset on 1-1-2023 of the cash price of Rs. 3,72,000 on hire
purchase System payable Rs. 1,00,000 on signing the contract and the balance in
three equal instalments of Rs.1,00,000 each at the end of each year. Interest is
charged at 5% p.a. Calculate the amount of interest and instalment with chart.
S.

Following are the particulars of the two departments “P” and “Q” Prepare the
departmental trading and profit & loss A/C. Assuming that the indirect expenses
are allocated to the departments in the ratio of 2:1 respectively.

Particulars P Q Total
Opening Stock 10,000 15,000 25,000
Purchases 20,000 30,000 50,000
Sales 50,000 60,000 1,10,000
Closing Stock 10,000 20,000 30,000
Rent - - 6000
Salary 5 ~ 3000
Advertisement - - 9000

6. Shri punecth maintains his accounts on single entry system. His assets and
liabilities on 31-03-2022 cash Rs. 500, stock Rs. 9700, debtors Rs. 18,000, plant &
machinery Rs. 14,000, creditors Rs. 9000, Bills Payable Rs. 3200.

His position on 31-03 -2023 cash Rs. 1380, stock Rs. 10,200, Sundry debtors Rs.
11,600, plant & machinery Rs. 12,000, creditors Rs. 6000. Bills payable Rs. 1180.
You are required to find out opening & closing capital.

7. Savitha purchased a vehicle from Maruthi Ltd. on 1-1-2020 on hire purchase
system and agreed to pay interest at 15% p.a. on unpaid balances of cash price.
He paid Rs. 40,000 on signing the contract and the balance in the following three
annual instalments.
On 31-12-2020 Rs. 1,74,000
on 31-12-2021 Rs. 1,56,000
on 31-12-2022 Rs. 1,38,000
Ascertain cash price and interest of each instalment.

SECTION-C 3x10=30
Answer any three of the following questions, each question carries Ten marks.
8. On 31-8-2023 fire occurred in the premises of M/s Madhu Stores of Hosapete.
The following data are available from the records of the stores.

Debtors on 1-1-2023 1,12,000
Cash received from debtors 3,37,500
Discount allowed upto 31-8-2023 11,000
Bad debts upto 31-8-2023 4500
Debtors on 31-8-2023 1,35,000
Stock on 1-1-2023 90,000
Purchases from 1-1-2023 to 31-8-2023 2,92,000
Rate of gross profit on sales 25%
Value of salvaged stock 50,000

Prepare a statement of fire claim.

0 OO




3 21BCOM2C4

9. Sachin purchased a machinery from Tata Ltd. on Hire purchase system on
1-1-2020. The terms of payment are as follows.

(a)
(b)

(c)

(d)

(e)

Cash price of the machinery was Rs. 5,04,000.
Amount paid on signing the contracts Rs. 1,35,000.

Balance amount paid on three equal instalments of Rs. 1,35,000 each on,
315! December every year.

Interest charged on outstanding balance was 5% p.a.

Depreciations was charged at 20% p.a. under reducing balance method.

Prepare necessary ledger accounts in the books of Sachin.

10. From the following information prepare the departmental Trading and Profit &
Loss Account for the year ending 31-3-2023.

Particulars Dept A | Dept B | Total
Opening stock 10000 16000 26000
Purchases 40000 32000 72000
Wages 6000 4000 10000
Sales 90000 60000 | 150000
Office salaries 48000
Office rent 32000
Discount allowed 8800
Discount earned 2880
Stock of goods on 31-3-2023 | 34000 28000 62000

Other information :

(a)
(b)
(c)

(d)

Office staff appointed A-10 men and B-5 men.
Area occupied A-100 sq.ft and B-60 sq.ft.

Depreciation on furniture of Rs.12,000 at 10% and on machinery of
Rs. 80,000 at 5% to be distributed equally between the two departments.

Inter-departmental transactions A to B Rs.16,000 is not included in the
above transactions. This should be excluded for calculation of ratios.

A0 000 P.T.O.
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11. From the following details prepare the branch Trading and Profit & Loss A/C for
the year ending 31-12-2022 and also the branch Account in the head office books
as on 31-12-2022.

Opening balances T

Stock 10,000
Debtors 12,000
Petty cash 100
Goods sent to branch 30,000

Cash sent to branch for

Salary 6,000
Rent 2,000
Petty cash 900
Goods returned by branch 1,800

Cash remitted by branch

Cash sales 16,000
Received from Debtors | 28,000
Credit sales 32,000
Discount allowed to debtors 800
Bad debts written off 500

Goods returned by debtors 700

Closing balances

Stock 9,000
Debtors 14,000
Petty cash 200

0D O O
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12. Savitha started business with a capital of Rs. 2,00,000 brought in cash. She
purchased Machinery for Rs. 50,000, furniture Rs. 20,000 and goods Rs. 1,00,000.
She borrowed Rs. 1,50,000, from Bank of Baroda. She has withdrawn Rs. 5000.
every month for her private expenses.

Her single entry records reveal the following details for the year ended

31-3-2023.
4

Wages 3,000
Carriage inwards 6,000
Discount allowed 3,000
Discount received 2,500
Salaries 5,000
Bad debts 2,000
Advertisement 2,600
Sundry expenses 1,000
Total sales 5,00,000
Total purchases 2,50,000
Cash sales 50,000
Credit purchases 2,00,000
Debtors on 31-3-2023 60,000
Creditors on 31-3-2023 40,000
Stock on Trade on 31-3-2023 40,000

Prepare the trading & profit & loss for the year ending 31-3-2023 and also the
Balance sheet.

-00o0-
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B.Com. II Semester Degree Examination, September/October - 2023

Time : 2 Hours

CORPORATE ADMINISTRATION
(NEP)

104255

Maximum Marks : 60

Note : Attempt all questions according to internal choice,

SECTION - A / 2yont - &

1. Answer the following questions.
S FUNS BINOR Y0IOD.

(a)

(b)

(c)

(d)

(g)

(h)

(1)

a)

What is a Company ?
FOT oTW3e ?

What is a chartered company ?
AR TOTY Q0TTED ? '

Who is a promoter ?
TFSFT DOTT C3RT ?

Define prospectus.
00D TEFODY, WYSTIIA.

Write any two disqualification of a director as per section 274.

SO 274 O J5oT JWeFIII Q0B OTBEINTR, 9A.

Define whole time director.
TRTOF NG JTerIET aaéaié QeR0.

What is resolution ?
ﬁ.ra:‘gas%? Q0BT 9

What is agenda ?
FoODF AR HOWTeR 9

What is compulsory liquidation ?
B0 IO QoTTVedd ?

What is liquidator final statement of account ?
DT ©0&T 5 HOTBED 7

00 0

10x1=10

P.T.O.
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Section - B/Q»nR - W
Answer any four of the following questions each question carries five marks.

FYNT oSnYmRmce oLy, agﬁ&ﬁ@ﬁ SpcTel ) Bdodeomd BJ 030 20T ©BOFNII), BRODTIT.
2. Explain briefly characteristics of public limited company. Saki=20

TORFLIT ACWT FOTAOD egrami&& ?doga::’oaaf\ QRO

3. Explain the legal requirements of prospectus.
TWOWOH TEFoD FIPJ @aﬂﬁsﬁéﬁ@@{ WROAD.

4. Explain statutory duties of a company secretary.
BOT FOODFTEFOD TORIWT, BSFING i DTOAD.

5. Explain legal position of director.
NTEFTET TR m@saﬁm& QTWORD.

6. Explain secretarial duties in connection with Annual general meeting.
TOKFT AWV, TRt BOWORATOZ FoODFBEFOD FSFFNTIY, NWOAD.

7. Explain circumstances for compulsory liquidation by Tribunal.
T2, TOTLONOT FYOD SN FOTPENTT, DBWOAD.

Section - C/Qyen - &
Answer any three of the following questions. Each question carry tem marks.
39NT cipRmRGEEe et TFROR ¢u3020. TSRO TFOIL TI YOI, BRCLTIT.

8. Explain the distinction between public company and private company. 3x10=30

TOTF T FOTL N WoAN FOTINY IWAI BIANTTY, WBOA0.
9. What is Memorandum of Association ? Explain Contents (Clauses) of Memorandum
of Association.

IO T 2000eH 7 DD T wYRP0BWE LOBNER, (BOTD) DIOAD.

10. Who is director ? Explain the procedures of appointment of director.
QTeFBET 03T ? ATEFTFOM), AT QAT DPSNER, WTOAO.

11. What is valid meeting ? Explain the requirements of valid meeting.
DD, AL DOTTERD 7 HYOhWT Fefodh V@YY ©0BNYRY, DWOAD.

12. Explain duties of liquidator in India in winding up of a company.
RUSTE) FOTANGI), &0TY @gcémo‘ BIF NI, QWOAD.

-00o0-
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B.Com. II Semester Degree Examination, September/October - 2023

COMMERCE
DSC - 6 : Law and Practice of Banking 104127
(NEP)

Time : 2 Hours Maximum Marks : 60

Note : Answer all sections according to internal choice.

SECTION - A / Qont — &

1. Answer the following sub-questions. Each sub-question carries one mark. 10x1=10
3ONT oT-TJINOR w3020, Td YUT-TIJ 1 WO WOS.

(a) Name the three presidency banks existed prior to formation of Imperial Bank

of India.
QOLOODT’ LR0F ST QORI TS [0 BAZEIT Soed JAEY, ADICLAITIN
SRORD. |

(b) What are the two primary functions of Banks ?
LROVNT QT TP FOONED odRR)P) ?
(c) Write any two circumstances of refusal of payment of cheque.
35°% 30mTE, cdnREe FTB> ROTHFNYR, BIOKS.
(d) What is payment-in due Course ?
ODTONH TONE F0TTEI 9
(e) Who is a Minor ?
ST aodm;dodé o330 2
(ff Who are joint account holders ?
HOOINE s703TTB0TT 03T 9
(g) Define negotiable instruments.
RYINT, WMoF W TIY 39,85, AeRD.
(h) Who are the parties to cheque ?
35S ﬁgmdda o35Th 9
(i) Mention any four technological innovations adopted in banking. -
LR00TTRY CYBRAT cIwYce Ty, JoBHSE SeIInT, ﬁxbﬁu‘b.
(j) Expand: RTGS and NEFT
DFOA0 : RTGS & NEFT

O |  rro.
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10.

11.

12.

SECTION - B / &yt - 0

Answer any four of the following questions. Each question carries five marks.
FUNT CIRTYWRETR ey, BBV wvBOA0. BE TIT DT WO, 4x5=20

Briefly explain the traditional functions of RBI.
TOWR § FOTWRT FONYRY, BodwWazoN wIOAD.

Explain the statutory protections to paying banker.
TRBETRT LROFTIN VT TIT W3, IZRNRYR, DBOXO.

Explain the procedure and operation of Joint hindu undivided family’s account.
ORPT LHOTR REDOWT 03 TRJORAE B VBVFLAB AGRT DTOR0.

Briefly explain the features of negotiable instruments.
TSN, [MRFSE TIRY OFrenvid, Fo3Temon D@OAD.

Distinguish between debit cards and credit cards.
B EF DY) 3RE REFNY 3TINYI), WIWD.

What is crypto-currency ? Explain the risks in it.
335p¢ 30D Q0BT 7 VTOYoH WITPORNTY, DBJOAD.

SECTION - C / Q3w — &

Answer any three of the following questions. Each question carries ten marks.
FENT CSRRTRHTR AT E_ujéqﬂ@ﬁ QZ0R0. T géaﬁ T LOBNLD. 3x10=30

Define Bank. Briefly explain the types of Banks in India.
DROFT 95, DeBO.  GRUZTYNT tRODNY TFONFI, FogTzmon NFOAD.

Who is a collecting banker ? Explain the duties and responsibilities of collecting
banker.

DBREOTOT méoscféocsd 03T ? JRRENTOT méoﬁcfﬁ aamé O] &m%m@iﬁ@&d
23D A0.

Give the meaning of partnership firm. Explain the procedure and operation of
account of partnership firm.

ToLOMR0F FOFOH WBHFBT, JeBO. ToeOM0DE ﬁoﬁ@ﬁfé 3008 TRBORIWT ) ATF LRI
DPOT DTWORD.

Write a note on :

e33368 2000W0 ¢

(a) Promissory Notes
MRS TR

(b) Bill of exchange
QAT TS

Explain the advantages and disadvantages of Internet Banking.
©OZWF O LWV,080N"S OFROINTI), B VTODBROINTT), DJORL.

-00o0-
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B.Sc./B.Com. II Semester Degree Examination,
September/ October - 2023

ENVIRONMENTAL STUDIES (N)

(NEP) 106795

Time : 1 Hour Maximum Marks : 30

Note : (i) Each question carries one mark.

(i) All questions are Compulsory.

1. Which of the following example is non-renewable natural resource ? 30x1=30
(A) Solar Energy (B) Water
(C) Crops (D) Coal and Petroleum
83 3t Bt LVDIHTRORY J0eBOXOT JANFB ROTIRL BRI ?
(A) =PTZY (B) Qe
(C) 3¢nsd (D) 3YTFL0 D) Bedeedodo

2. Environment includes :

(A) Abiotic factor (B) Biotic factor

(C) Nitrogen and oxygen (D) Abiotic and Biotic compounds

TORT ARNTD, w¥RROART :

(A) ©20T LOBNW (B) ¥ wo3nsh

(C) =oTxzT B SRRIT (D) f:‘)?i’d&)ﬁ DB zé’débs ROOINTNH
3. Ecology deals with the study of :

(A) Environment (B) Living and Non-living substance

(C) Living beings (D) All the above

TOXT cbwguﬁ =% @qjéojaaﬁdmo@ﬁ 55556?30’?’063 :

(A) TOXT (B) Zexd &2 dRers TR

(C) 23 (D) eI 2QRP

4. Examples of primary consumers :

(A) Rabbit (B) Frog (C) Snake (D) Lion
TRPNT MOBTC YVTOTTH :
(A) R[ew (B) &3 (C) =ox) (D) ao®

ARG P.T.O.
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10.

Soil erosion can be prevented by :

(A) Afforestation (B) Deforestation

(C) Over grazing (D) Removal of vegetation

DT TFTI, et SBODWID

(A) @drééeﬁdta (B) @draémrﬁ

(C) 803N DecVYHT0 (D) ﬁ:dé CNATICN VN cisfeveinjiat

World Environmental Day celebrated on :

(A) 5t June (B) 10" June (C) 15t June (D) 20t July
Y BOXT OB, 3 OF SBOZLRNZT

(A) =RJ S (B) &3 10 (C) &I 15 (D) z:ac% 20

What is the full form of C.F.C. ?

(A) Chlorofluorocarbon (B) Chlorinefluorocarbon
(C) Carbonfluorocarbon (D) Chlorofluorochlorin
C.F.C. oD TpwF BRI D ?

(A) 3BgednHgrdnmurs® (B) 3ROTHRCRTIWET
(C) PWFTTREBPTWFD (D) 3RednFpedrineda’

B.0.D. stands for :
(A) Biological oxygen demand (B) Biological oxidation demand
(C) Biotic oxidation demand (D) Biochemical oxidation demand

2.5..8 0 Jerer TR :
(A) woleeenBic’ YIRT’ ahow  (B) wodeewnnsef $idema” f[Dor*
(C) wodmetis® wiBemT BRDOT (D) wcirednser 3demn” Bdor®

Father of Green revolution in India :

(A) M.S. Swaminathan (B) Harikrishna Jain
(C} Vandana Sharma (D) Dr. B.P. Pal
20T TAT TEECH LHTORDT :

(A)  S0.OF. TELTT (B) =0T ®T

(C) =0T BaorF (D) 0. D.&. T

Hotspots are regions for :

(A) Endomic (B) Diversity

(C) Rarity (D) Critically endangered Species
TotF AL Tre80nT ¢

(&) Zoecd (B) Z0g3d

(C) ©=teD (D) ©9Z0BIODT WPEND



3 AECC

11. Biodiversity Comprises :

(A) Genetic diversity (B) Species diversity

(C) Ecosystem diversity (D) All the above

BeR %‘3@5@ [RNYR, INROAR :

(A) oD dé&}qﬁéi (B) =030 ddac,dé:a’

(C) =dx3 dddx‘d)ojc ddsaqg: (D) ¢S QP
12. Example of In-Situ conservation :

(A) National Parks (B) Sancturies and Reserve Forests

(C) Biosphere Reserves (D) All the above

Foeod TOTIRI YOI :

(A) m%eo:b YOTRINGD (B) ©2303Teanst wdd) SO TR

(C) zend wFed LT, (D) DT Q[P
13. The gaseous layer which surrounds the earth is called :

(A) Troposphere (B) Lithosphere

(C) Atmosphere (D) Ozonosphere

GO0, BR[O IO BTTB &en 660333338 :

(A) &RERA0DT (B) &coriecs

(C) oz (D) bpieeatRoho’
14. The most frequent and naturally occurring disasters :

(A) Drought (B) Tsunami (C) Flood (D) Earthquake

woedon Feds ESdziﬁﬁmﬁ ROPART DT

(A) 20T (B) =0T (C) Tz (D) 3oz
15. Deforestation generally decreases :

(A) Rainfall (B) Soil erosion (C) Drought (D) Global Warming

©TTIY) LoeTt BRZDOIPMHIT

(A) =¥ (B) aﬂoa‘gd LRBY (C) B8 (D) n3% FpJ[PI
16. Chipko Movement was started to conserve :

(A) Forest (B) Grassland (C) Deserts (D) Soil

BBT BOTIRMON iR, BHRTYODL), TRTOPHURONI) :

(A) ©Te (B) IDLRMomen (C) TN (D) =eay
17. Yellowing of Taj Mahal is an effect of :

(A) Acid Rain (B) Global Warming

(C) Noise Pollution (D) Ozone Depletion

T DBOT YO WP FT0 : ‘

(A) e ¢ (B) =ond% IoTRWS

(C) aia.z_) a’nae.‘)afé (D) LEnes AmE9

(AR P.T.O.
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18.

19,

20.

21.

22.

23.

24.

In which year, the Indian Wildlife Act was Implemented ?

(A) 1970 (B) 1971 (C) 1972 (D) 1974
HOBEOD =T, Wed (VoUFrE) 5003 0D, OINT TTFBY 200nR 3TURoNR 9
(A) 1970 (B) 1971 (C) 1972 (D) 1974

Plants that can grow in dry places are called :
(A) Hydrophytes (B) Mesophytes (C) Halophytes (D) Xerophytes
Lfe g3R00DY LPodNT FFNRYR), Wert 3BoDwrHIE ¢

"

(A) ZER[E (B)  soXmeps (C) Tolreges (D) 2eBReHE,

Increased the level of Air Pollution leads to

(A) Soil Erosion (B) Global Warming
(C) Respiratory Problems (D) All of the above

O IRITT BYYY, 50w :

(A)  DFI "SI (B) 3onés Souzmoed

(C) YLATT XX, | (D) I3 oI

All consumers are :

(A) Autotrophs (B) Carnivores (C) Heterotrophs (D) All of the above
QTP MORIL :

(A)  XBeexB (B) =woxzed (C) Toozswon (D) eI Qe
The Primary Producers of a Pond Ecosystem is :

(A) Zooplankton (B) Red algae

(C) Phytoplankton (D) Floating plants

3RYT TORT 5355?9;&'53 TTOBNT ATTF TID :

(A) =RTROT (B) 3oz Tl

(C) Fdoemgods” (D) 3eend RATED

The conversion of ammonia to nitrate is known as :

(A) Ammonification (B) Nitrification

(C) Denitrification (D) All of the above

e:a‘iraee'\)o:bamﬁl ﬁe@ew‘ Shl mwammmﬁl [N ﬁd’o:bmmgd :

(A) ©EeeATTD (B) é&;ﬁdm

(C) @eeﬁe}ajﬁdsa (D) edT apRp

Red data book contains data of :

(A) All plants (B) All animals

(C) Threatened species (D) Economically Important species
SO dewo TR B LB, LIRROBT

(A) 2o AR (B) ooy osdnsd

(C) ©908 wosYoos weder (D) SHFINAT =28

AU ORR O




25.

26.

27.

28.

29.

30.

5

Which one of the following region in India is a hotspot of biodiversity ?

(A) Sunderbana (B) Western Ghats

(C) Eastern Ghats (D) All of the above

RUBRY & IENT ISe3) AT 05, TotFmoE 8N -

(A) =oTTws (B) m%ab a::»*&gﬁ%.’o

(C) TexF Tensd (D) DT QTP

The World Environment is derived from :

(A) Greek (B) French (C) Spanish (D) English
TWORT D0V JTH) _aQon T

(A) Aes (B) Hoes® (C) moRex* (D) o

Chipko Movement was started from :

(A) Chamoli (B) Gujarat (C) Bangalore (D) Anantpura
BSR, WHBY Q0T TBOLTWOW
(A) &8 (B) mxooz® (C) Songed (D) ©T03IT

The essential non-metalic minerals are :
(A) Granite, Marble, Limestone (B) Gold, Silver, Platinum

(C) Iron, Copper, Zinc (D) Coal, Silica, Cement, Clay
©3NT, SRETRYT DIRNW :

(A) TRRE, @35S, BT (B) wored, B¢, TR0

(C) 3z, T, AD (D) 3B, 2w, ATDOLF, zée&aaata%
An aquarium is an Ecosystem.

(A) Aquatic (B) Self regulating

(C) Artificial (D) Above all

&3eO0D0 B3 LOXTT aﬁéa%odaahci :

(A) 2ORA (B) xdodzo R levvelc)io)

(C) B8 (D) edT 2P

The herbaceous are also called :

(A) Primary Consumers (B) Secondary Consumers

(C) Tertiary Consumers (D) None of the above

7038 FeIToDJ, & Ot Ge DT

(A) TRENT MOHT (B) Q3eod moms

(C) 32}5053 nomEs (D) clmTe @

-00o0-
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B.Sc./B.Com./B.C.A. II Semester Degree Examination,
September/October - 2023

ENVIRONMENTAL STUDIES (O) LIS
(NEP)
Time : 2 Hours Maximum Marks : 60
Note :  Answer all the sections.
TREIT 1 DR DT GVIOA0.
SECTION - A / Q3R - &
I. Answer the following questions. 10x1=10

SN ‘gédﬂ@ﬁ SZDAD.
1. (a) What is atmosphere ?
DoS0RTER DOTTEI ?
(b) What is grassland Ecosystem ?
BeymoRe BOXS FRIF, womded ?
(c) What are renewable resources ?
SDEFORWIVTE BOBIRLNED Q0[BT ?
(d) What is genetic diversity ?
39 édaqﬂé NOT3eR ?
(e) What is Ex-situ Conservation ?
2)&0° ﬁ@@od) pleles Q0BT ?
(f) Expand C.B.D.
2.0.8. 0DIY, DTOA.
(g What is Noise Pollution ?
AAEMEIVEN QOB 2
(h) What is Flood ?
To® DOTVERD ?
(i) Define Population.
uaﬁn‘oméaax_’_g 0TV ?
(j) What are Producer ?
QB TID /LTI QOTIBER 7

AR P.T.O.
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SECTION - B / Oyt -

II. Answer any four of the following. 4x5=20
NS SR merce Wy TI ARt OBOAD.

2. Define Mining and explain the Impacts of Mining on the forest.
nedmodgod), DR B BOrRT ed RedredodomenyEs TOBIRTZ), DO,

3. Explain the four components of environment.
TOXTT Toey, TRIAII, D3O

4. What is Bio-diversity ? Explain the types of Bio-diversity.
BeS F0F, Q0BTeD 9 2o DfAlate) DFNII, DHOK.

5. What is Soil Pollution ? How can we control Soil Pollution ?
a’asgai 5333@55 O[T 9 msgai m@sé Sdﬁugp &Jri a9,

6. Write an Impacts on environment by populat@on explosion.
2:.5230335 BEIFRoN0T TOXTT Heed e mommﬁvm‘i 2B8000.

7. What is Forest resource ? Explain the importance of Forests.
©TR, FOTIRY H0TTeD 9 TS DBIF[I), DTOA.

SECTION - C / Q3R - 2

IIl. Answer any three of the following. 3x10=30
FPNS CIRPTmCR R TINOR GI0RD.

8. Explain about Alternative Energy Resource in brief.
2O3E 0D Si mwmﬁmv &)rj‘ Aa‘og?:)’nmﬂ NWOX.

9. Write about environmental movements.
TOXO BYhIeNY &.)Ti\ wawré Ww3oW0.

10. Write about Biogeographical classification of India.
0BT ddw-aiarime% @NeFB0RB, DTOA.

11. Explain the Role of Indian and other religions and culture in environmental
studies.
SOxT OBODIBY TIe0D D VIT FRFTitd Y] ﬁo”‘%éﬁ# mgafabd QWO

12. Describe the structure and functions of Ecosystem.,
Bifekste déad?gj&i) TS DR ﬁaod:n-“mic'\bnt WDWOA.

-00o0-
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B.Com. II Semester Degree Examination, September/October - 2023

COMMERCE
2.3 : Financial Accounting - II
(CBCS)

Time : 3 Hours Maximum Marks : 70

Note : Neatness carries weightage.

SECTION - A
Answer any five of the following. 5x2=10

Give any two reasons for Dissolution of a firm.

Give the meaning of Joint venture.

What do you mean by Minimum Rent ?

Why Revaluation A/c is prepared ?

What are the objectives of Departmental Accounts ?
What do you mean by Amalgamation ?

State any 2 benefits of conversion of a firm into company.

SECTION - B

Answer any three of the following, 3x5=15
Information regarding a firm under dissolution were as under :

Capital A - ¥ 40,000, B - ¥ 25,000, C - ¥ 5,000, Reserves T 20,000,

Creditors ¥ 60,000.

Profits and losses are shared by A, B and Cin 2 : 1 : 1 respectively. The assets
realised ¥ 80,000. ‘C’ was Bankrupt. Prepare Realisation A/c and capital A/c.

Apply the rule of Garner vs Murray.

(MR P.T.O.
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nd losses equally. Varun

un incurring cxpenses|of
k and sold the entire

9. Arun and Varun are in a joint venture sharing profits a
brought goods costing ¥ 1,20,000 and sent the same to Ar
¥ 4,000. Arun provided goods valued ¥ 80,000 from his stoC
goods for ¥ 3,00,000.

, . . . uly settled.
Arun is entitled to a commission at 5% on sales. The accounts werc duly

Prepare a joint venture A/c and Varun A/c in the books of Arun.

ne of coal raised with minimum

10. Ajay Co. leased a mine on royalty of ¥ 1 per ton '
- : ' t workings was out of Royalties

rent of ¥ 4,000. The right of recoupment of shor
during the first 3 years.

Year I 1I 111 v
Tonnes 3,200 4,000 24,000 32,000

Prepare royalty payable chart from the above information.

11. From the following information calculate the purchase consideration. The following
assets and liabilities are taken over by the firm :

Land and Building ¥ 45,000, Machinery ¥ 20,000, Stock ¥ 20,000, Debtors
¥ 23,200 B/R ¥ 6,400, Goodwill ¥ 28,800, B/P T 7,200, Creditors < 21,600.

12. What are departmental Accounts ? Explain its advantages and disadvantages.

SECTION - C
Answer any three of the following. 3x15=45

13. Ram and Sita were into a Joint Venture sharing profits and losses in the ratio of
2 : 1 respectively. Ram supplied goods to the value of ¥ 75,000 and incurres an
expenditure of ¥ 3,000 on them and Sita supplies goods to the extent of ¥ 60,000
and her expenses amounted to ¥ 4,500.

Ram sells all the goods for ¥ 1,80,000 for which he is entitled to receive a
commission at 5%. Accounts are settled by Bank drafts.

Give the necessary ledger accounts in the books of Ram and Sita.

A
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tmental
14. A departmental stores has 2 departments X and Y. Dept. X sells goods to Dept. Y

at normal market prices. From i 1
Trading and Profit and Logs Alc the following particulars prepare Departmental

rorticniars Dept. X  Dept.Y  Total
Opening stock 10,000 . .
Purchases 2,30,000 20,000 -
Goods from X Dept. 2 70.000 2
Wages 10,000 16,000 B
Salaries 6,800 4,200 -
Closing stock (cost) 50,000 18,000 .
Sales 2,30,000 1,45,000 -
Printing and Stationery 2,000 1,600 -
Machinery - 12,000 -
Advertisement - - 10,000
Salaries (General) - - 18,000

Depreciate machinery by 10%. The general unallocated expenses are to be
apportioned in the ratio of 3 : 2 for X and Y respectively. The entire stock of Y
department represents that received from X department.

15. Arihanth Publications agreed to take up the printing and sales of a book from the
author Shri Lakshmikanth on 1-7-2020. Following are the terms of agreement.

(a) Royalty payable is 20% on the sale price of the book. The book is priced at
T 25 percopy.

(b) The author is to be paid the minimum rent of T 10,000 p.a.

(c) Each year’s excess of minimum rent over the actual royalties is recoverable
out of the royalties during the next three years.

Years 2021 2022 2023 2024 2025

Books 400 750 1600 3000 4500

Show the necessary accounts in the books of Arihanth publications.

LT P.T.O.
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16. Amit, Namit and Punit are partners sharing profits and losses in the ratio ?f
53 1 2 respectively. Their Balance Sheet as on 31-12-16, when the business
was wound up was as follows :

Liabilities 4 Assets T
Capital : Buildings 40,000
Amit 50,000 Plant 30,000
Namit 15,000  Stock 30,000
Punit 45,000 Debtors 10,000
1,10,000 L,OOO

It was agreed to repay the amounts due to the partners as and when the assets
were realised.

Feb - 2017 < 30,000
April - 2017 ¥ 73,000
June - 2017 T 3,000
Prepare a statement showing the distribution of cash among the partners.

17. X and Y are the partners in a firm sharing profit and loss equally. They decided
to convert their business into a limited company on 31-12-2022 when their Balance
Sheet stood as under :

Liabilities 4 Assets 4
Creditors 30,000 Buildings 31,000
Loan (Cr) 20,000 Machinery 34,000
Bank loan 10,000 Investments 5,000
Reserve fund 5,000 Stock 25,000
Capital Debtors 20,000
X 30,000 B/R 10,000
Y 30,000
1,25,000 1,25,000

Other Information :

(a) Goodwill, Building and Machinery have been valued at ¥ 40,000, ¥ 30,000
and ¥ 50,000 respectively.

(b) The loan (Cr) have agreed to accept 10% preference shares in the company.

(c) The vendor firm has to be allotted 12,000 equity shares of ¥ 10 each fully
paid in settlement of the purchase consideration.
Prepare necessary Ledger Accounts.

-00o0-
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B.Com. II Semester Degree Examination, September/October - 2023
COMPUTER SCIENCE (VOCATIONAL)

2.5 : Numerical and Statistical Methods
(CBCS)

Time : 3 Hours Maximum Marks : 70
SECTION - A

Answer any five from the following. 5x2=10

1. (a) Convert binary 1010 to decimal.
(b) Define Integer Number.
(c] Find 2's Complement of 1011.

{d) Define Mode.
(e} Define class frequency.
(ff Define Standard Deviation.
(g] What is Range ?
SECTION - B

Answer any four from the following. 4x5=20

2. Wrte a note on Octal Number System.
3. Explain binary multiplication with suitable example.
4. Find 1's and 2’s complement of 1010001,
S. Compute the median from the following data.
| Visits 0-10 10-20 | 20-30 | 30-40 | 40-50
Frequency S 25 25 18 7

6. Computer Standard Deviation from the following data.

Daily Wages 100 - 105 105-110 | 110-115 | 115- 120 120 - 125
No. of

Wil 20 21 23 32 35
7. The ranks of students in Computer and Statistics are given. Compute Rank
Correlation.
Computer 1 2 3 6 5 4
Statistics 1 3 7. 4 5 6
ARG P.T.O.
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10.

11.

12.

13.

SECTION - C
Answer any four from the following. 4x10=40

Convert decimal 243 to octal and hexadecimal.

Calculate the binary addition and subtraction for the following.
11001 and 0001

Subtract 1101 - 1010 using 1’s and 2’s complement.

Computer mean and mode from the following data.

Score 5-10]10-15(15-20|20-25|25-30(30-35|35- 40
No. of

4 8 1 12 16 20 24
Students °

Calculate Standard Deviation and Coefficient of Standard Deviation for the
following data :

X 16 22 28 34 40 46
F 10 15 18 20 24 30

Calculate the Coefficient of Correlation between X and Y series from the
following data : '

X 39 65 62 90 82 75 25 98 36 78

Y 47 53 58 86 62 68 | 60 91 51 84

-00o0-
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B.Com/BBM/BBA/BHM II Semester Degree Examination,
September/October - 2023
BASIC ENGLISH

II : Basic English
(CBCS - New Syllabus 2017-18)

Time : 3 Hours Maximum Marks : 70

SECTION - I
(SHORT STORIES)

1. Annotate any two of the following : 2x3=6

(a) “Come, child come!” his parents called from the shade of a grove where they
had seated themselves on the edge of a well”.

(b) “Ah, the new tanpura, from Mishraji in the music lane ? You have come
from Mishraji ?

(c) “It is true | made a little money on these concert of ours, enough to take
care of my father during his last years and his illness”.

2. Answer any one of the following : 1x10=10

(a) What were the things that the child wanted to have in the fair, when he was
with parents ?

(b) Discuss briefly about the bond between the accompanist and Ustad ?

SECTION - II
(ESSAYS)
3. Annotate any two of the following : 2x3=6
(a) Challenged this statuesque when he invented Braille, a brilliant system of

dots.

(b) You are getting an opportunity, make the best use of it, he told children.
(c) Ambani was an Indian credited with revolutionising India’s equity culture,

4. Answer any one of the following : 1x10=10
(a) How did Louis Braille impact the world ? Describe.
(b) ‘Dhirubai Ambani is a visionary’. Explain.

(R0 P.T.O.
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SECTION - III
(POETRY)

5. Annotate any two of the following : 2x4=8
(a) a hotch potch of culture.
a confusion of language.
(b) The village all declared how much he knew.
I was certain he could write and cipher too.
(c) Die not, poor Death, nor yet canst you kill me.

6. Answer any one of the following : 1x10=10
(a) Bring out the character sketch of village school master.
(b) Explain the meaning of eternity in the poem ‘Death be not proud’ by John

Donne.
SECTION - IV
(GRAMMAR)
7. Fill in the blanks with suitable modals in the bracket : 5x1=5
(a) You (may/must) follow the rules.
(b) Students (should/ought) be punctual.
(c) 1 (can/shall) open this.
(d) When (shall/can) we meet again ?
(e) Priya (will/ought) prepare food.
8. Change the sentences according to the instructions given in the bracket : 5x1=5

fa) Suma is sharp girl. (Change into superlative)

(b) Ram is tallest boy. (Change into positive)

(c) Goa is smallest state in India. (Change into comparative)
(d) The water is clearer than crystal. (Change into positive)
(e) Mango is sweet. (Change into superlative)

9. Change the sentences according to the instruction given in the bracket : 5x2=10
(a) He opens the door. (Change into simple past tense)
(b) Shilpa writes test. (Change into present continuous tense)
(c) Priya is cooking food. (Change into simple present tense)
(d) Suma studies English. (Change into future tense)
(e) Manu is playing Hockey. (Change into negative sentence)

-00o0- ‘



